Q = 52 7|48 EMN07-412)
:'

SHR|AMA (82 7|7F 2024 07 212 06A| ~ 07E 22 06A|)

[ 20243 072 219 06A| L ] ETO R TN

R 38 25 OFIIK b, £ Qo) -

> = S 7Y e
O ATHO6AD), H= 0| =211 7t oS0 M= HI7F 210 JAFLICE A[E2 2E 50| 10km O] ¢ Y L|Cf.

O 25012 Y=50| GHT Ml ks 2ot S2|10 B|7F QUp7F 22 0f XAt OX|ZD, HFse2 SEELL7|Ye| 7t
At2[o] S0 =21 HENK| 7+E H|7F L2|Cht 220 FERAUSLICL
O 22 o, 422 MEHel s ©ot 2|1 7H5 HIZ7t 2L}, 1 2 S¢2 SEfEY7|Y

o
=0 FEEASULCE

10
d
03
>
i)
=2

*
=
La
N

ro
2t O
oN
H
O
oot
to
mjr
13
=
noe
=
?
AN
o
3
3

o

(25): 5mm L} <
(2=): 10~20mm
(25): 5~20mm
(
(

Q 00 mio 4o =
4> 0 =
Okl Ok Ok OR O

25): 5mm 0|2t
2 5): 30~50mm

09 oo 0o oot 0

* SR
- R 2sh SHEAE(20Y 22:24~21Y 10:00)
- UQFRS) ZHE A (212 03:00~08:00)
- O]=3%h L RAE (1Y 04:00~07:00)

0>
|:|
oot
to
Ir
to
2
A
i
40
0y
o off
il
rE
OfH
oln
|o
HU
ro
rot
o
oz
0z
Ho
0ot
N
or
0x
¥0
Ojo

2 A AIZO[ 2~4kmz ZOFX| 20 1 ENEE 500t LiQ|2 RO 7 A, 251 WY ErE%
1HS4 25~30kte| Zeot HIEO| 210 S S50 ot 2#F0[ o & LCt

M B|7F 2|20, B|7F Li2[= S¢F AI80[ 4km L2l = ZOtX| 1 15 1= 1,000ft O[5t2 ROFX|Z2
0, 2= Q2| HiE0| oS5 10kt XM=t 25kt2 ofZt Zot| 222, S-E85X0] oot 30| of &Lt

O M8 2 =2 L2MA| HMS0| Bo &% 15~20kt, Z|U=tE<5 25~35kt2 ZotA| =27 A7, S 8 F% XH0[of
oot gE ZHO0[ o S E LI

O (FE) WY HFE BIEO| xS 15kt X[CH=7E4 25kt Li2|2 of7t 4ot S S

O (ZYs) 2=t LY BoSH 20kt L2, Z|t=7hE< 25~35kte| 2t HiEgo0| 21 S SHX0)| 2[et S #E0| ol gELICtH
O (3¢ 2= OFHIA| HSHIIE Stieh Cha 29t H|7F 2| A 2~4kme| 2 Al"81} 1000ft O[Ste| FE =7} O & &
L|C.

KT SSH i, 85 &5 ZYEF A, f@F3)2 7|40 2= &&71¢7d F2|Y(https//amokmagokn) S M (




2 M BE MH[2)0|A ZHRISEA| 7| HERILIC




